# AN EXTENSION METHOD FOR T-NORMS ON SUBINTERVALS TO T-NORMS ON BOUNDED LATTICES

Funda Karaçal, Ümit Ertuğrul and M. Nesibe Kesicioğlu

In this paper, a construction method on a bounded lattice obtained from a given t-norm on a subinterval of the bounded lattice is presented. The supremum distributivity of the constructed t-norm by the mentioned method is investigated under some special conditions. It is shown by an example that the extended t-norm on L from the t-norm on a subinterval of L need not be a supremum-distributive t-norm. Moreover, some relationships between the mentioned construction method and the other construction methods in the literature are presented.

Keywords: T-norm, bounded lattice, construction method, subinterval

Classification: 03E72, 03B52, 03G10, 18B35

## 1. INTRODUCTION

Triangular norms were first described by Menger as a generalization of triangle inequality in [11]. Then, triangular norms were defined as we know today on [0, 1] [13, 14] and have been studied from many different perspectives. Thus, they have been a study topic in itself [2, 4, 8, 9]. Triangular norms, as special aggregation operators, have been proven to be useful in many fields like fuzzy logic, expert systems, neural net-works, aggregation, and fuzzy system modeling [3, 10, 15]. Besides its applicability to computer sciences and engineering, [0, 1] is highly preferred by researchers considering the advantages of working on some important mathematical properties (topological structure, continuity on it, etc.)

Due to the presence of incomparable elements and the lack of some important features provided on [0, 1], working on bounded lattices is much more complex than working on [0, 1]. But it is still more attractive since bounded lattice is more general algebraic structure than the unit real interval [0, 1]. It serves a wide range of applications like coding theory etc. Considering these reasons, to define triangular norms on bounded lattices has been a current area for researchers and is still up to date.

DOI: 10.14736/kyb-2019-6-0976

In [9], there are some construction methods for t-norms via the subset A satisfying  $(0,1) \subseteq A \subseteq [0,1]$  or h-additive generators. In literature, some construction methods have been also given on bounded lattices in [2, 4, 12]. In [12], S. Saminger proposed a construction method that do not always produce a t-norm on L and investigated under which assumptions the method produce a t-norm on L. In [4], it is proposed a construction method that extend the t-norm on a interval [a, 1] of the bounded lattice L to bounded lattice L. Considering the effective use of fuzzy logic operators in applied sciences, it is important to obtain a new one from a known fuzzy logic operator on a given

sciences, it is important to obtain a new one from a known fuzzy logic operator on a given boundary lattice. Therefore, for triangular norms which are fuzzy logic operators, it is also very important to obtain a triangular norm on a bounded lattice from a triangular norm defined on a subinterval of the bounded lattice. Main aim of this paper is to give a way constructing the t-norm on a bounded lattice from given t-norm on subinterval of the lattice without additional conditions.

The paper is organized as follows: In Section 1, we give some necessary definitions and previous results. Based on the presence of t-norms on [a, b], in Section 2, we propose a construction method extending the t-norm on the subinterval of L to the bounded lattice L being a t-norm again with no additional conditions. In [4], a construction method making the t-norm on a interval [a, 1] of L a t-norm on a bounded lattice L is presented. We observe that the extended t-norm obtained by our method is coincident with the method given in [4] when b = 1. If we take a = 0 for our construction method, our method provide a way to obtain a t-norm on bounded lattice L from the t-norm on a interval [0, b] of bounded lattice L. We also observe that the extended t-norm obtained by our method coincides with the t-norm proposed by Saminger in [12] when a and bare comparable with all elements of L. Therefore, it is clearly understandable that our construction method is much more general than the available methods in the literature. Moreover, our construction method construct a t-norm on bounded lattice L from the t-norm on interval [a, b] (specifically [0, b]) of L without any assumptions.

#### 2. NOTATIONS, DEFINITIONS AND A REVIEW OF PREVIOUS RESULTS

In this section, we recall some basic notions and results.

**Definition 2.1.** (Birkhoff [1]) Let  $(L, \leq, 0, 1)$  be a bounded lattice. The elements x and y are called comparable if  $x \leq y$  or  $y \leq x$ . Otherwise, x and y are called incomparable. In this situation, the notation x||y is used.

We denote by  $I_p$  the set of elements which are incomparable with p, that is,  $I_p = \{x \in L : x | | p \}$ , where  $p \in L$ . Similarly, we donote by  $I_{p,r}$  the set of incomparable elements to p and r, that is,  $I_{p,r} = \{x \in L : x | | p \text{ and } x | | r \}$ , where  $p, r \in L$ .

**Definition 2.2.** (Birkhoff [1]) Let  $(L, \leq, 0, 1)$  be a bounded lattice and  $a, b \in L$  with  $a \leq b$ . The interval [a, b] of L is defined as

$$[a,b] = \{x \in L | \quad a \le x \le b\}.$$

Moreover, the intervals  $(a, b] = \{x \in L | a < x \le b\}$ ,  $[a, b) = \{x \in L | a \le x < b\}$ and  $(a, b) = \{x \in L | a < x < b\}$  of L are defined in a similar way. **Definition 2.3.** (Klement et al. [9]) An operation T on a bounded lattice L is called a triangular norm if it is commutative, associative, increasing with respect to the both variables and has a neutral element 1.

Let  $T_1$  and  $T_2$  be two t-norms on L.  $T_1$  is called smaller than  $T_2$  if for any elements  $x, y \in L$ ,  $T_1(x, y) \leq T_2(x, y)$ . Similar relation between two t-conorms can be given. In this sense, the smallest and greatest t-norms on a bounded lattice L are given respectively as follows:

$$T_D(x,y) = \begin{cases} y & x = 1, \\ x & y = 1, \\ 0 & \text{otherwise} \end{cases} \text{ and } T_{\wedge}(x,y) = x \wedge y.$$

**Definition 2.4.** (Karaçal and Khadjiev [7])

A t-norm T ( or t-conorm S) on a bounded lattice L is called  $\lor$ -distributive if for every  $a, b_1, b_2 \in L$ 

$$T(a, b_1 \lor b_2) = T(a, b_1) \lor T(a, b_2) \text{ (or } S(a, b_1 \lor b_2) = S(a, b_1) \lor S(a, b_2))$$

holds.

Similarly, t-norm T (or t-conorm S) on a bounded lattice L is called  $\wedge$ -distributive if for every  $a, b_1, b_2 \in L$ 

$$T(a, b_1 \wedge b_2) = T(a, b_1) \wedge T(a, b_2) \text{ (or } S(a, b_1 \wedge b_2) = S(a, b_1) \wedge S(a, b_2))$$

holds.

**Definition 2.5.** (Grabisch et al. [5]) Let T be a t-norm on a bounded lattice L. An element  $x \in L \setminus \{0\}$  is called a zero divisor of T if there exists  $y \in L \setminus \{0\}$ ,  $x \land y \neq 0$  such that T(x, y) = 0.

#### 3. CONSTRUCTION OF TRIANGULAR NORMS ON BOUNDED LATTICES

In this section, a construction method is presented to obtain a t-norm on a bounded lattice L from a given t-norm W on a subinterval of L. Additionally, whether the triangular norm obtained by proposed method is a supremum-distributive t-norm is investigated and its relationship with the current methods are investigated.

**Theorem 3.1.** Let  $(L, \leq, 0, 1)$  be bounded lattice and W be a t-norm on a interval [a, b]

of L. Then, the function  $T: L^2 \to L$  defined as follows

$$T(x,y) = \begin{cases} W(x,y) & (x,y) \in [a,b)^2, \\ W(x \land b, y \land b) & x \in [a,b), \ (a < y \text{ and } y \in I_b), \\ (a < x \text{ and } x \in I_b), y \in [a,b), \\ (a < x \text{ and } x \in I_b), (a < y \text{ and } y \in I_b), \\ (a < x \text{ and } x < b), \ y \in [a,b), \\ (x \land y \land a) & (x \in I_a \text{ and } x < b), \ y \in I_a \text{ and } y < b), \\ (x \in I_a \text{ and } x < b), \ (y \in I_a \text{ and } y < b), \\ (x \in I_a \text{ and } x < b), \ 1 > y \ge b, \\ x \in [a,b), \ (y \in I_a \text{ and } y < b), \\ (a < x \text{ and } x \in I_b), (y \in I_a \text{ and } y < b), \\ (x \in I_a, b), \ y \in L \setminus \{1\} \text{ or } y \in I_{a,b}, x \in L \setminus \{1\} \\ x \land y \land b & (a < x \text{ and } x \in I_b), \ b \le y < 1, \\ b \le x < 1, \ (y > a \text{ and } y \in I_b), \\ x \land y & b \le x, y < 1, \\ x \in [a,b), \ b \le y < 1, \\ b \le x < 1, \ y \in [a,b) \\ x = 1 \text{ or } y = 1 \end{cases}$$

is a t-norm on L.

Proof. (i) Monotonicity: Let us show that for every elements  $x, y \in L$  with  $x \leq y$ ,  $T(x, z) \leq T(y, z)$  for all  $z \in L$ . If z = 1, then it is clear that  $T(x, z) = x \leq y = T(y, z)$ . If there exists one of the cases  $(z \in I_a \text{ and } z < b)$ , z < a and  $(z \in I_{a,b})$ , then it is clear that  $T(x, z) = x \wedge z \wedge a \leq y \wedge z \wedge a = T(y, z)$ . Moreover, if  $T(x, z) = x \wedge z \wedge a$ ,  $T(x, z) \leq T(y, z)$  is always satisfied since  $T(x, z) = x \wedge z \wedge a \leq y, z, a, W(x, y)$  or  $W(x \wedge b, y \wedge b)$ . The proof is split into all the other possible cases.

1. Let  $x \in [a, b)$ . Since  $x \leq y, y \in I_a$  is not a case.

1.1. a < y and  $y \in I_b$ ,

1.1.1.  $z \in [a, b),$ 

$$T(x,z) = W(x,z) \le W(y \land b, z) = T(y,z).$$

1.1.2. a < z and  $z \in I_b$ ,

$$T(x,z) = W(x,z \wedge b) \le W(y \wedge b, z \wedge b) = T(y,z).$$

1.1.3.  $b \le z < 1$ ,

$$T(x,z) = x \le y \land b = y \land z \land b = T(y,z).$$

1.2.  $b \le y < 1$ ,

1.2.1.  $z \in [a, b),$ 

$$T(x,z) = W(x,z) \le W(b,z) = z = T(y,z).$$

1.2.2. a < z and  $z \in I_b$ ,

$$T(x,z) = W(x,z \land b) \le y \land z \land b = T(y,z).$$

1.2.3.  $b \le z < 1$ ,

$$T(x,z) = x \le y \land z = T(y,z).$$

1.3. y = 1. T(x, z) is equal to one of the cases  $x \wedge z \wedge a$ , W(x, z), x and  $W(x, z \wedge b)$ . For all the cases, it is clear that  $T(x, z) \leq z = T(1, z)$ . 2. a < x and  $x \in I_b$ . 2.1.  $b \leq y < 1$ .

2.1.1.  $z \in [a, b)$ ,

$$T(x,z) = W(x \land b, z) \le W(b,z) = z = T(y,z).$$

2.1.2. a < z and  $z \in I_b$ ,

$$T(x,z) = W(x \land b, z \land b) \le W(b, z \land b) = z \land b = y \land z \land b = T(y,z).$$

2.1.3.  $b \le z < 1$ ,

$$T(x,z) = x \land z \land b \le x \land z \le y \land z = T(y,z).$$

2.2. If y = 1, it is clear that  $T(x, z) \leq T(y, z)$ .

3.  $b \le x < 1$ . Since  $x \le y$ , we need to look at the case y = 1. In this case, T(x, z) is one of the cases  $z, x \land z \land a, x \land z \land b$  and  $x \land z$ . Since y = 1, it is clear that T(y, z) = z. Thus, it follows  $T(x, z) \le T(y, z)$  for all possible cases of T(x, z).

(ii) Associativity: We present that T(x, T(y, z)) = T(T(x, y), z) for any  $x, y, z \in L$ . The proof is split into all possible cases by considering the situation of the elements x, y, z. If one of the elements x, y and z is equal to 1, it is clear that the equality is always satisfied. Also, if one of the conditions y < a or  $(y \in I_a \text{ and } y < b)$  or  $(y \in I_{a,b})$  holds, we have that

$$T(x, T(y, z)) = T(x, y \land z \land a) = x \land y \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$$

1. Let x < a.

1.1.  $y \in [a, b)$ ,

1.1.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.1.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,W(y,z)) = x \wedge W(y,z) \wedge a = x = x \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x,y),z).$ 

1.1.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (z \land a) \land a = x \land z = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.1.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y, z \land b)) = x \land W(y, z \land b) \land a = x = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.1.5. If  $b \le z < 1$ , then  $T(x, T(y, z)) = T(x, y) = x \land y \land a = x = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.1.6. If  $z \in I_a \cap I_b$ , then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) = x \land z \land a = T(x, z) = T(x \land y \land a, z) = T(T(x, y), z).$ 1.2. a < y and  $y \in I_b$ ,

1.2.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.2.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,W(y \wedge b,z)) = x \wedge W(y \wedge b,z) \wedge a = x = x \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x,y),z).$ 

1.2.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) = x \land (z \land a) \land a = x \land z \land a = T(x, z) = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.2.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y \land b, z \land b)) = x \land W(y \land b, z \land b) \land a = x = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.2.5. If  $b \leq z < 1$ , then  $T(x, T(y, z)) = T(x, y \wedge z \wedge b) = x \wedge (y \wedge b) \wedge a = x \wedge y = x = x \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 

1.2.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land y \land z \land a = x \land y \land z = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.3.  $b \le y < 1$ ,

1.3.1. If z < a,  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.3.2. If  $z \in [a, b)$ , then  $T(x, T(y, z)) = T(x, z) = x \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z)$ .

1.3.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (z \land a) \land a = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.3.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = x \land (z \land b) \land a = x \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

1.3.5. If  $b \leq z < 1$ , then  $T(x, T(y, z)) = T(x, y \wedge z) = x \wedge (y \wedge z) \wedge a = x \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 

1.3.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = T(x,z \wedge a) = x \wedge z \wedge a = T(x,z) = T(x \wedge y \wedge a,z) = T(T(x,y),z).$ 

2. Let  $x \in [a, b)$ .

2.1.  $y \in [a, b)$ ,

2.1.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = z = W(x, y) \land z \land a = T(W(x, y), z) = T(T(x, y), z).$ 

2.1.2. If  $z \in [a,b)$ , then T(x,T(y,z)) = T(x,W(y,z)) = W(x,W(y,z)) = W(W(x,y),z) = T(W(x,y),z) = T(T(x,y),z).

2.1.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) = x \land (z \land a) \land a = z \land a = W(x, y) \land z \land a = T(W(x, y), z) = T(T(x, y), z).$ 

2.1.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y, z \land b)) = W(x, W(y, z \land b)) = W(W(x, y), z \land b) = T(W(x, y), z) = T(T(x, y), z).$ 

2.1.5. If  $b \le z < 1$ , then T(x, T(y, z)) = T(x, y) = W(x, y) = T(W(x, y), z) = T(T(x, y), z).

2.1.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (y \land z \land a) \land a = z \land a = W(x, y) \land z \land a = T(W(x, y), z) = T(T(x, y), z).$ 2.2. a < y and  $y \in I_b$ ,

2.2.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = z = W(x, y \land b) \land z \land a = T(W(x, y \land b), z) = T(T(x, y), z).$ 

2.2.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,W(y \land b,z)) = W(x,W(y \land b,z)) =$  $W(W(x, y \land b), z) = T(T(x, y), z).$ 2.2.3. If  $z \in I_a$  and z < b, then  $T(x,T(y,z)) = T(x,y \land z \land a) = T(x,z \land a) =$  $x \wedge (z \wedge a) \wedge a = z \wedge a = W(x, y \wedge b) \wedge z \wedge a = T(W(x, y \wedge b), z) = T(T(x, y), z).$ 2.2.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y \land b, z \land b)) = W(x, W(y \land b, z \land b))$  $(b, z \wedge b)) = W(W(x, y \wedge b), z \wedge b) = T(W(x, y \wedge b), z) = T(T(x, y), z).$ 2.2.5. If  $b \le z < 1$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = T(x, y \land b) = W(x, y \land$  $T(W(x, y \land b), z) = T(T(x, y), z).$ 2.2.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \wedge z \wedge a) = T(x, z \wedge a) = x \wedge (z \wedge a) \wedge a =$  $z \wedge a = W(x, y \wedge b) \wedge z \wedge a = T(W(x, y \wedge b), z) = T(T(x, y), z).$ 2.3.  $b \le y < 1$ , 2.3.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land z \land a = T(x, z) = T(T(x, y), z)$ . 2.3.2. If  $z \in [a, b)$ , then T(x, T(y, z)) = T(x, z) = T(T(x, y), z). 2.3.3. If  $z \in I_a$  and z < b, then  $T(x,T(y,z)) = T(x,y \land z \land a) = T(x,z \land a) =$  $x \wedge (z \wedge a) \wedge a = z \wedge a = x \wedge z \wedge a = T(x, z) = T(T(x, y), z).$ 2.3.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = T(x, z \land b) =$  $W(x, z \wedge b) = T(x, z) = T(T(x, y), z).$ 2.3.5. If  $b \le z < 1$ , then  $T(x, T(y, z)) = T(x, y \land z) = x = T(x, z) = T(T(x, y), z)$ . 2.3.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = x \wedge (y \wedge z \wedge a) \wedge a = z \wedge a = z$  $x \wedge z \wedge a = T(x, z) = T(T(x, y), z).$ 3. Let  $x \in I_a$  and x < b. 3.1.  $y \in [a, b)$ , 3.1.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = x \land z = z$  $(x \wedge a) \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 3.1.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,W(y,z)) = x \wedge W(y,z) \wedge a = x \wedge a =$  $(x \wedge a) \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 3.1.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) =$  $x \wedge (z \wedge a) \wedge a = x \wedge z \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 3.1.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y, z \land b)) = x \land W(y, z \land b) \land a =$  $x \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 3.1.5. If  $b \leq z < 1$ , then  $T(x, T(y, z)) = T(x, y) = x \land y \land a = x \land a = (x \land a) \land z \land a = (x \land a) \land a = (x \land a)$  $T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 3.1.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = T(x,z \wedge a) = x \wedge z \wedge a =$  $T(x \wedge a, z) = T(T(x, y), z).$ 3.2. a < y and  $y \in I_b$ , 3.2.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = x \land z = x$  $(x \wedge a) \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 3.2.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,W(y \land b,z)) = x \land W(y \land b,z) \land a =$  $x \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge a, z) = T(T(x, y), z).$ 3.2.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (z \land a) \land a =$  $x \wedge z \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge a, z) = T(T(x, y), z).$ 3.2.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y \land b, z \land b)) = x \land W(y \land b, z \land b)$  $b, z \wedge b) \wedge a = x \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge a, z) = T(T(x, y), z).$ 3.2.5. If  $b \leq z < 1$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = x \land (y \land b) \land a = x \land a = z \land a = z \land a = z \land b = z \land$ 

 $(x \wedge a) \wedge z \wedge a = T(x \wedge a, z) = T(T(x, y), z).$ 

3.2.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \wedge z \wedge a) = x \wedge (y \wedge z \wedge a) \wedge a = x \wedge z \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge a, z) = T(T(x, y), z).$ 3.3.  $b \leq y < 1$ ,

3.3.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = x \land z = (x \land a) \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

3.3.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,z) = x \wedge z \wedge a = x \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x,y), z).$ 

3.3.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) = x \land (z \land a) \land a = x \land z \land a = (x \land a) \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

3.3.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = T(x, z \land b) = x \land (z \land b) \land a = x \land a = (x \land a) \land z \land a = T(x \land y \land a, z) = T(T(x, y), z).$ 

3.3.5. If  $b \leq z < 1$ , then  $T(x, T(y, z)) = T(x, y \wedge z) = x \wedge (y \wedge z) \wedge a = x \wedge a = (x \wedge a) \wedge z \wedge a = T(x \wedge a, z) = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ 

3.3.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land y \land z \land a = x \land z \land a = T(x \land a, z) = T(x \land y \land a, z) = T(T(x, y), z).$ 

- 4. a < x and  $x \in I_b$ ,
- 4.1.  $y \in [a, b)$ ,

4.1.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = z = W(x \land b, y) \land z \land a = T(W(x \land b, y), z) = T(T(x, y), z).$ 

4.1.2. If  $z \in [a, b)$ , then  $T(x, T(y, z)) = T(x, W(y, z)) = W(x \land b, W(y, z)) = W(W(x \land b, y), z) = T(W(x \land b, y), z) = T(T(x, y), z).$ 

4.1.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) = x \land (z \land a) \land a = z \land a = W(x \land b, y) \land z \land a = T(W(x \land b, y), z) = T(T(x, y), z).$ 

4.1.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y, z \land b)) = W(x \land b, W(y, z \land b)) = W(W(x \land b, y), z \land b) = T(W(x \land b, y), z) = T(T(x, y), z).$ 

4.1.5. If  $b \le z < 1$ , then  $T(x, T(y, z)) = T(x, y) = W(x \land b, y) = T(W(x \land b, y), z) = T(T(x, y), z)$ .

4.1.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (z \land a) \land a = z \land a = W(x \land b, y) \land z \land a = T(W(x \land b, y), z) = T(T(x, y), z).$ 4.2. a < y and  $y \in I_b$ ,

4.2.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = z = W(x \land b, y \land b) \land z \land a = T(W(x \land b, y \land b), z) = T(T(x, y), z).$ 

4.2.2. If  $z \in [a, b)$ , then  $T(x, T(y, z)) = T(x, W(y \land b, z)) = W(x \land b, W(y \land b, z)) = W(W(x \land b, y \land b), z) = T(W(x \land b, y \land b), z) = T(T(x, y), z).$ 

4.2.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (z \land a) \land a = z \land a = W(x \land b, y \land b) \land z \land a = T(W(x \land b, y \land b), z) = T(T(x, y), z).$ 

4.2.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y \land b, z \land b)) = W(x \land b, W(y \land b, z \land b)) = W(W(x \land b, y \land b), z \land b) = T(W(x \land b, y \land b), z) = T(T(x, y), z).$ 

4.2.5. If  $b \le z < 1$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = W(x \land b, y \land b) = T(W(x \land b, y \land b), z) = T(T(x, y), z).$ 

4.2.6. If  $z \in I_{a,b}$ , then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) = x \land (z \land a) \land a = z \land a = W(x \land b, z \land b) \land z \land a = T(W(x \land b, y \land b), z) = T(T(x, y), z).$ 4.3.  $b \leq y < 1$ ,

4.3.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land z \land a = z = (x \land b) \land z \land a = T(x \land y \land b, z) = T(T(x, y), z).$ 

4.3.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,z) = W(x \wedge b,z) = T(x \wedge b,z) =$ T(T(x,y),z).4.3.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = x \land (z \land a) \land a =$  $z \wedge a = (x \wedge b) \wedge z \wedge a = T(x \wedge b, z) = T(T(x, y), z).$ 4.3.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = T(x, z \land b) =$  $W(x \wedge b, z \wedge b) = T(x \wedge b, z) = T(T(x, y), z).$ 4.3.5. If  $b \leq z < 1$ , then  $T(x, T(y, z)) = T(x, y \wedge z) = x \wedge b = T(x \wedge b, z) = x$ T(T(x,y),z).4.3.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = x \wedge (y \wedge z \wedge a) \wedge a = z \wedge a =$  $(x \wedge b) \wedge z \wedge a = T(x \wedge b, z) = T(T(x, y), z).$ 5.  $b \le x < 1$ , 5.1.  $y \in [a, b)$ , 5.1.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = z = z$  $y \wedge z \wedge a = T(y, z) = T(T(x, y), z).$ 5.1.2. If  $z \in [a,b)$ , then T(x,T(y,z)) = T(x,W(y,z)) = W(y,z) = T(y,z) =T(T(x,y),z).5.1.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) =$  $x \wedge (z \wedge a) \wedge a = z \wedge a = y \wedge z \wedge a = T(y, z) = T(T(x, y), z).$ 5.1.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y, z \land b)) = W(y, z \land b) = W(y, z \land b)$ T(y,z) = T(T(x,y),z).5.1.5. If  $b \le z < 1$ , then T(x, T(y, z)) = T(x, y) = y = T(y, z) = T(T(x, y), z). 5.1.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = x \wedge (z \wedge a) \wedge a = z \wedge a =$  $y \wedge z \wedge a = T(y, z) = T(T(x, y), z).$ 5.2. a < y and  $y \in I_b$ , 5.2.1. If z < a, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z) = x \land z \land a = z = z$  $(y \wedge b) \wedge z \wedge a = T(y \wedge b, z) = T(x \wedge y \wedge b, z) = T(T(x, y), z).$ 5.2.2. If  $z \in [a,b)$ , then  $T(x,T(y,z)) = T(x,W(y \land b,z)) = W(y \land b,z) = T(y \land b,$ T(T(x,y),z).5.2.3. If  $z \in I_a$  and z < b, then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = T(x,z \wedge a) =$  $x \wedge (z \wedge a) \wedge a = z \wedge a = (y \wedge b) \wedge z \wedge a = T(y \wedge b, z) = T(T(x, y), z).$ 5.2.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, W(y \land b, z \land b)) = W(y \land b, z \land b) = W(y \land b, z \land b)$  $T(y \wedge b, z) = T(T(x, y), z).$ 5.2.5. If  $b \le z < 1$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = T(x, y \land b) = y \land b = y \land b$  $T(y \wedge b, z) = T(T(x, y), z).$ 5.2.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = x \wedge (y \wedge z \wedge a) = z \wedge a =$  $(y \wedge b) \wedge z \wedge a = T(y \wedge b, z) = T(T(x, y), z).$ 5.3. If  $b \leq y < 1$ , then  $T(x, T(y, z)) = T(x, y \wedge z \wedge a) = T(x, z) = x \wedge z \wedge a = z = z$  $(x \wedge y) \wedge z \wedge a = T(x \wedge y, z) = T(T(x, y), z).$ 5.3.2. If  $z \in [a, b)$ , then  $T(x, T(y, z)) = T(x, z) = z = T(x \land y, z) = T(T(x, y), z)$ . 5.3.3. If  $z \in I_a$  and z < b, then  $T(x, T(y, z)) = T(x, y \land z \land a) = T(x, z \land a) =$  $x \wedge (z \wedge a) \wedge a = z \wedge a = T(x \wedge y, z) = T(T(x, y), z).$ 

5.3.4. If a < z and  $z \in I_b$ , then  $T(x, T(y, z)) = T(x, y \land z \land b) = T(x, z \land b) = z \land b = T(x \land y, z) = T(T(x, y), z).$ 

5.3.5. If  $b \le z < 1$ . then  $T(x, T(y, z)) = T(x, y \land z) = x \land y \land z = T(x \land y, z) = T(T(x, y), z)$ .

5.3.6. If  $z \in I_{a,b}$ , then  $T(x,T(y,z)) = T(x,y \wedge z \wedge a) = x \wedge (y \wedge z \wedge a) \wedge a = z \wedge a =$  $(x \wedge y) \wedge z \wedge a = T(x \wedge y, z) = T(T(x, y), z).$ 6.  $x \in I_a$  and  $x \in I_b$ . If  $T(y, z) = y \wedge z \wedge a$ , it is clear that  $T(x, T(y, z)) = x \wedge T(y, z) \wedge a = x \wedge y \wedge z \wedge a = T(x \wedge y \wedge a, z) = T(T(x, y), z).$ Now, let us look at the cases in which T(y, z) is different from  $y \wedge z \wedge a$ . 6.1.  $y \in [a, b)$  and  $(a < z \text{ and } z \in I_b)$ . By  $T(y, z) = W(y, z \land b)$ , we have that  $T(x, T(y, z)) = x \land W(y, z \land b) \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ 6.2.  $y \in [a, b)$  and  $1 > z \ge b$ . Since T(y, z) = y, we have that  $T(x, T(y, z)) = x \land y \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ 6.3.  $a < y, y \in I_b$  and  $z \in [a, b)$ . Since  $T(y, z) = W(y \land b, z)$ , we have that  $T(x, T(y, z)) = x \land W(y \land b, z) \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ 6.4.  $a < y, y \in I_b, a < z$  and  $z \in I_b$ . Since  $T(y, z) = W(y \land b, z \land b)$ , we have that  $T(x, T(y, z)) = x \land W(y \land b, z \land b) \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ 6.5.  $a < y, y \in I_b$  and  $1 > z \ge b$ . Since  $T(y, z) = y \land z \land b$ , we have that  $T(x, T(y, z)) = x \land (y \land z \land b) \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ 6.6.  $1 > y \ge b$  and  $z \in [a, b]$ . Since T(y, z) = y, we have that  $T(x, T(y, z)) = x \land y \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ 6.7.  $1 > y \ge b, z > a$  and  $z \in I_b$ . Since  $T(y, z) = y \land z \land b$ , we have that  $T(x, T(y, z)) = x \land (y \land z \land b) \land a = x \land a = x \land y \land z \land a = T(T(x, y), z).$ The commutativity of T and the fact that 1 is a neutral element of T are obvious Tfrom the definition of T. Therefore, T is a t-norm on L.  $\Box$ 

**Remark 3.2.** Observe that the restriction of the t-norm to [0, a] obtained by formula 1 in Theorem 3.1 is also a t-norm on [0, a]. Similarly, the restriction of the t-norm to [b, 1] obtained by formula 1 in Theorem 3.1 is a t-norm on [b, 1].

**Remark 3.3.** Note that the t-norm obtained by formula 1 in Theorem 3.1 on bounded lattice L may have zero-divisors even if the t-norm W has no zero-divisors on [a, b]. Let us investigate the following example.

**Example 3.4.** Let  $(L, \leq, 0, 1)$  be a bounded lattice characterized by the following Hasse diagram, W be the infimum t-norm  $T_{\wedge}$  on [a, b].



Fig. 1. Lattice diagram of L.

Formula 1 produces the following t-norm T.

T	0	a	b	х	у	k	1
0	0	0	0	0	0	0	0
a	0	a	a	0	0	0	a
b	0	a	b	0	0	0	b
x	0	0	0	0	0	0	х
У	0	0	0	0	0	0	У
k	0	0	0	0	0	0	k
1	0	a	b	х	У	k	1

Tab. 1. T-norm T on L.

It is easily shown that T has zero-divisors on L since T(x, y) = 0 when  $x \wedge y = k \neq 0$ .

**Remark 3.5.** If  $I_a = I_b = \emptyset$ , the method presented in Theorem 3.1 coincides with the Saminger's construction method [12]. The method proposed by Saminger may not produce a t-norm on any bounded lattice. These two methods do not have to coincide on bounded lattice that provide Saminger's constraints (see following example). Moreover, the method given in Theorem 3.1 coincides with the method given in [4] when b = 1.

**Example 3.6.** Consider the lattice L characterized by Hasse diagram, as shown in Figure 2.



Fig. 2. Lattice diagram of L

Let  $T = T_{\wedge}$  on [a, 1].  $T_1$  and  $T_2$  are the t-norms constructed by the methods given in Saminger [12] and the method in Theorem 3.1, respectively.

$T_1$	0	v	ล	11	1
1	0	~	a	u	1
0	0	0	0	0	0
х	0	х	0	0	х
a	0	0	a	а	a
u	0	0	a	u	u
1	0	х	a	u	1

**Tab. 2.** T-norm  $T_1$  on L.

$T_2$	0	х	a	
0	0	0	0	
х	0	0	0	
a	0	0	a	

 $0 \mid 0$ 

u

1 | 0 | x | a | u | 1

Tab. 3. T-norm  $T_2$  on L.

u | 1

0 0

0 x

a a

a u u

It is clear that  $T_1$  and  $T_2$  do not coincide.

In the literature, there is no construction method which extends a t-norm on [0, b] to be a t-norm on a bounded lattice L as our best knowledge. We also provided a method for constructing the t-norm on a bounded lattice L using given triangular norms on any interval [0, b] of L.

**Corollary 3.7.** In Theorem 3.1, if we take a = 0, the following t-norm T is obtained. Therefore, Theorem 3.1 provide a way to produce a t-norm on L from the t-norm W on [0, b].

ĺ	W(x,y)	$(x,y) \in [0,b)^2,$
	$W(x, y \wedge b)$	$x \in [0, b), \ (0 < y \text{ and } y \in I_b),$
	x	$x \in [0,b), \ 1 > y \ge b,$
	$W(x \wedge b, y)$	$(0 < x \text{ and } x \in I_b), y \in [0, b),$
	$W(x \wedge b, y \wedge b)$	$(0 < x \text{ and } x \in I_b), (0 < y \text{ and } y \in I_b)$
$T(x,y) = \boldsymbol{\zeta}$	$x \wedge y \wedge b$	$(0 < x \text{ and } x \in I_b), 1 > y \ge b,$
	y	$1 > x \ge b, \ y \in [0,b),$
	$x \wedge y \wedge b$	$1 > x \ge b, (y > 0 \text{ and } y \in I_b),$
	$x \wedge y$	$(x,y) \in [b,1)^2,$
	y	x = 1,
l	x	y = 1.

**Proposition 3.8.** Let  $(L, \leq, 0, 1)$  be a distributive bounded lattice and W be a t-norm on a interval [a, b] of L. If W is  $\vee$ -distributive and  $I_a = I_b = \emptyset$ , then the t-norm T given in Theorem 3.1 is  $\vee$ -distributive.

**Proof.** If  $I_a = I_b = \emptyset$ , then the t-norm T given in Theorem 3.1 is defined as follows:

$$T(x,y) = \begin{cases} W(x,y) & x,y \in [a,b], \\ x \wedge y & \text{otherwise.} \end{cases}$$

Let us show that T is  $\lor$ -distributive. 1.  $x \in [a, b]$ .

and

1.1.  $y \in [a, b],$ 1.1.1.  $z \in [a, b].$  In this case,  $a \leq y \lor z \leq b$ . Thus,

$$T(x, y \lor z) = W(x, y \lor z) = W(x, y) \lor W(x, z) = T(x, y) \lor T(x, z).$$

1.1.2.  $z \notin [a, b]$ . In this case, either z < a or z > b since  $I_a = I_b = \emptyset$ .

If z < a, it is obtained that  $T(x, y \lor z) = T(x, y) = T(x, y) \lor T(x, z)$ . Similarly, If z > b, it is obtained that  $T(x, y \lor z) = T(x, z) = T(x, y) \lor T(x, z)$ .

1.2.  $y \notin [a, b]$ . In this case, y < a or y > b.

1.2.1. y < a.

1.2.1.1.  $z \in [a, b]$ . In this case,  $y \vee z = z$ . In this case, considering  $T(x, y) \leq T(x, z)$ ,

$$T(x, y \lor z) = T(x, z) = T(x, y) \lor T(x, z).$$

1.2.1.2.  $z \notin [a, b]$ . Then, either z < a or z > b. Let z < a. Thus,  $y \lor z \le a$ . If  $y \lor z < a$ ,

$$T(x, y \lor z) = x \land (y \lor z) = (x \land y) \lor (x \land z) = T(x, y) \lor T(x, z).$$

If  $y \lor z = a$ ,

$$T(x, y \lor z) = T(x, a) = W(x, a) = a = x \land a = x \land (y \lor z) = (x \land y) \lor (x \land z) = T(x, y) \lor T(x, z).$$

Let z > b. Then,  $y \lor z = z$ . Thus,

$$T(x, y \lor z) = T(x, z) = x \land z = x \land (y \land z) = (x \land y) \lor (x \land z) = T(x, y) \lor T(x, z).$$

1.2.2. y > b. 1.2.2.1.  $z \in [a, b]$ . Then,  $y \lor z = y$ .

$$T(x, y \lor z) = T(x, y) = x \land y = x = x \lor W(x, z) = T(x, y) \lor T(x, z).$$

1.2.2.2.  $z \notin [a, b]$ . Then, either z < a or z > b. Let z < a. Then,  $y \lor z = y > b$ . Thus,

$$T(x, y \lor z) = x \land (y \land z) = (x \land y) \lor (x \land z) = T(x, y) \lor T(x, z).$$

Let z > b. Then,  $y \lor z > b$ . Thus,

$$T(x,y\vee z)=x\wedge (y\vee z)=(x\wedge y)\vee (x\wedge z)=T(x,y)\vee T(x,z).$$
 2.  $x\not\in [a,b].$  Then,

$$T(x, y \lor z) = x \land (y \lor z) = (x \land y) \lor (x \land z) = T(x, y) \lor T(x, z).$$

**Remark 3.9.** Even if L is a distributive lattice and W is a  $\lor$ -distributive t-norm on  $[a,b] \subseteq L$ , the t-norm T given in Theorem 3.1 need not be  $\lor$ -distributive. Let us look at the following example.

988

**Example 3.10.** Let L be a bounded lattice whose lattice diagram is depicted as follow:



**Fig. 3.**  $(L, \leq)$ .

Take the t-norm  $W = T_{\wedge}$  on [d, 1]. Then, the t-norm T generated by the method given in Theorem 3.1 is as follow.

T	0	a	b	c	d	e	f	g	1
0	0	0	0	0	0	0	0	0	0
a	0	a	0	a	a	0	a	a	a
b	0	0	b	0	b	b	b	b	b
c	0	a	0	a	a	0	a	a	c
d	0	a	b	a	d	b	d	d	d
e	0	0	b	0	b	b	b	b	e
f	0	a	b	a	d	b	f	d	f
g	0	a	b	a	d	b	d	g	g
1	0	a	b	c	d	e	f	g	1

**Tab. 4.** The t-norm T

It is clear that, L is a distributive lattice and W is  $\lor$ -distributive on [d, 1]. But, t-norm T is not  $\lor$ -distributive since

$$T(c, f \lor g) = T(c, 1) = c \neq a = a \lor a = T(c, f) \lor T(c, g).$$

**Remark 3.11.** Theorem 3.1 provides a way to produce a t-norm different from  $\wedge$  on any bounded lattice in general even if  $W = \wedge$  in the formula of Theorem 3.1 (Check Example 3.10).

It is known that there may not always be  $\lor$ -distributive t-norm on any arbitrary bounded lattice [7]. But, there always exists an  $\land$ -distributive t-norm on any bounded

lattice (recall  $T_W, T_{\wedge}$ ). The following poroposition provides to construct an  $\wedge$ -distributive t-norm different from  $T_W$  and a arbitrary bounded lattice in general if the t-norm W on a interval [a, b] of L is  $\wedge$ -distributive and  $I_a = I_b = \emptyset$ .

**Proposition 3.12.** Let  $(L, \leq, 0, 1)$  be a bounded lattice and W be a t-norm on a interval [a, b] of L. If W is  $\wedge$ -distributive and  $I_a = I_b = \emptyset$ , then the t-norm T given in Theorem 3.1 is  $\wedge$ -distributive.

Proof. If  $I_a = I_b = \emptyset$ , then the t-norm T given in Theorem 3.1 is defined as follows:

$$T(x,y) = \begin{cases} W(x,y) & x, y \in [a,b], \\ x \wedge y & \text{otherwise.} \end{cases}$$

Let us show that T is  $\wedge$ -distributive.

1.  $x \in [a, b]$ .

1.1.  $y \in [a, b],$ 1.1.1.  $z \in [a, b].$ 

$$T(x, y \wedge z) = W(x, y \wedge z) = W(x, y) \wedge W(x, z)$$
  
=  $T(x, y) \wedge T(x, z).$ 

1.1.2.  $z \notin [a, b]$ . In this case, either z < a or z > b since  $I_a = I_b = \emptyset$ . 1.1.2.1.  $z < a \ (z > b)$ .

$$T(x, y \wedge z) = T(x, z) \ (T(x, y)) = T(x, y) \wedge T(x, z).$$

1.2.  $y \notin [a, b]$ . In this case, y < a or y > b.

1.2.1. y < a.

1.2.1.1.  $z \in [a, b]$ .

$$T(x, y \wedge z) = T(x, y) = T(x, y) \wedge T(x, z).$$

1.2.1.2.  $z \notin [a, b]$ . Then, either z < a or z > b. Let z < a.

$$T(x, y \land z) = x \land (y \land z)$$
  
=  $y \land z$   
=  $(x \land y) \land (x \land z)$   
=  $T(x, y) \land T(x, z)$ .

Let z > b.

$$T(x, y \wedge z) = T(x, y) = T(x, y) \wedge T(x, z).$$

1.2.2. y > b. 1.2.2.1.  $z \in [a, b]$ .

$$T(x, y \wedge z) = T(x, z) = T(x, y) \wedge T(x, z).$$

1.2.2.2.  $z \notin [a, b]$ . Then, either z < a or z > b. Let z < a.

$$T(x, y \land z) = T(x, z) = x \land z = z$$
  
=  $x \land y \land z$   
=  $(x \land y) \land (x \land z)$   
=  $T(x, y) \land T(x, z).$ 

Let z > b. Then,  $y \wedge z = b$  or  $y \wedge z > b$ . Let  $y \wedge z = b$ .

$$T(x, y \land z) = T(x, b)$$
  
=  $W(x, b) = x$   
=  $x \land b$   
=  $(x \land y) \land (x \land z)$   
=  $T(x, y) \land T(x, z).$ 

Let  $y \wedge z > b$ .

$$T(x, y \land z) = x \land y \land z = x$$
  
=  $W(x, b) = x$   
=  $x \land (y \land z)$   
=  $(x \land y) \land (x \land z)$   
=  $T(x, y) \land T(x, z).$ 

2.  $x \notin [a, b]$ . Then,

$$T(x, y \land z) = x \land (y \land z) = (x \land y) \land (x \land z) = T(x, y) \land T(x, z).$$

**Remark 3.13.** Proposition 3.12 produces an  $\wedge$ -distributive t-norm on any bounded lattice L providing that there exists two elements  $a, b \in L$  such that  $I_a = I_b = \emptyset$  without checking since there always exists t-norm  $T_{\wedge}$  at least on a interval [a, b] of the bounded lattice L.

### 4. CONCLUDING REMARKS

Triangular norms are still a current subject matter for many researchers. Therefore, the study of triangular norms on important algebraic structures continues to attract researchers' attentions. In this study, we provide a way to obtain a triangular norm on L from a triangular norm defined on a subinterval of L. It should be noted that unlike existing methods in the literature, this method works without any restrictions and it is a more general construction method. We end this paper with the following some open problems: Is there a construction method extending a given supremum distributive t-norm on interval [a, b] of distributive lattice L to obtain again a supremum distributive t-norm on L even if  $I_a \neq \emptyset$  and  $I_b \neq \emptyset$ ? In Remark 3.2, we observe that the restriction

of the t-norm obtained by formula 1 in Theorem 3.1 to [0, a] is also a t-norm on [0, a]and similarly the restriction of the t-norm obtained by formula 1 in Theorem 3.1 to [b, 1]is a t-norm on [b, 1]. From this point of view, are there another extension methods for triangular norms from the t-norm on interval [a, b] of the bounded lattice L such that the restrictions of the extended t-norm on L to [0, a] and [b, 1] are t-norms on [0, a] and [b, 1], respectively? Can we obtain another extension method of t-norm W of interval [a, b] of L to the bounded lattice L by putting which t-norms on [0, a] and [b, 1]?

(Received June 1, 2019)

#### REFERENCES

- [1] G. Birkhoff: Lattice Theory. Third edition. Providence 1967. DOI:10.1090/coll/025
- G. D. Çaylı: On a new class of t-norms and t-conorms on bounded lattices. Fuzzy Sets and Systems 332 (2018), 129–143. DOI:10.1016/j.fss.2017.07.015
- [3] P. Drygaś and B. Pekala: Properties of decomposable operations on same etension of the fuzzy set theory. In: Advences in Fuzzy Sets, Intuitionistic Fuzzy Sets, Generalized Nets and Related Topics (K. T. Atanassov, O. Hryniewicz, J. Kacprzyk, M. Krawczak, Z. Nahorski, E. Szmidt, S. Zadrozny, eds.), Vol. I, Foundations, EXIT, Warszawa 2008, pp. 115–118.
- [4] U. Ertuğrul, F. Karaçal, and R. Mesiar: Modified ordinal sums of triangular norms and triangular conorms on bounded lattices. Int. J. Intell. Systems 30 (2015), 807–817. DOI:10.1002/int.21713
- M. Grabisch, J. L. Marichal, R. Mesiar, and E. Pap: Aggregation Functions. Cambridge University Press, 2009. DOI:10.1017/cbo9781139644150
- [6] F. Karaçal: On the direct decomposability of strong negations and S-implication operators on product lattices. Inform. Sci. 176 (2006), 3011–3025. DOI:10.1016/j.ins.2005.12.010
- [7] F. Karaçal and D. Khadjiev: ∨-Distributive and infinitely ∨-distributive t-norms on complete lattices. Fuzzy Sets Systems 151 (2005), 341–352. DOI:10.1016/j.fss.2004.06.013
- [8] F. Karaçal and M. N. Kesicioğlu: A T-partial order obtained from t-norms. Kybernetika 47 (2011), 300–314.
- [9] E. P Klement, R. Mesiar, and E. Pap: Triangular Norms. Kluwer Academic Publishers, Dordrecht 2000.
- [10] J. Martin, G. Mayor, and J. Torrens: On locally internal monotonic operations. Fuzzy Sets Syst. 137 (2003), 27–42. DOI:10.1016/s0165-0114(02)00430-x
- [11] K.Menger: Statistical metrics. Proc. Natl. Acad. Sci. USA 8 (1942), 535–537.
  DOI:10.1073/pnas.28.12.535
- [12] S. Saminger: On ordinal sums of triangular norms on bounded lattices. Fuzzy Sets Systems 157 (2006), 10, 1403–1416. DOI:10.1016/j.fss.2005.12.021
- [13] B. Schweizer and A. Sklar: Espaces metriques aléatoires. C. R. Acad. Sci. Paris Ser. A 247 (1958), 2092–2094.
- B. Schweizer and A. Sklar: Statistical metric spaces. Pacific J. Math. 10 (1960), 313–334.
  DOI:10.2140/pjm.1960.10.313
- [15] A. K. Tsadiras and R. G. Margaritis: The MYCIN certainty factor handling function as uninorm operator and its use as a threshold function in artificial neurons. Fuzzy Sets Syst. 93 (1998), 263–274. DOI:10.1016/s0165-0114(96)00185-6

Funda Karaçal, Department of Mathematics, Faculty of Sciences, Karadeniz Technical University, 61080 Trabzon. Turkey. e-mail: fkaracal@yahoo.com

Ümit Ertuğrul, Department of Mathematics, Faculty of Sciences, Karadeniz Technical University, 61080 Trabzon. Turkey e-mail: uertugrul@ktu.edu.tr

M. Nesibe Kesicioğlu, Department of Mathematics, Recep Tayyip Erdoğan University, 53100 Rize. Turkey.

e-mail: m.nesibe@gmail.com